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NỘI DUNG BÀI THI

Question 1: Choose the word that has the underline part pronounced differently from the others


A. genetics
B. generate
C. kennel
D. gentle

Question 2: Choose the word whose primary stress is different from the others


A. invaluable
B. investigate
C. intimacy
D. intensity

Question 3: Choose the word that has the underline part pronounced differently from the others



A. mechanic
B. machinery
C. chemist
D. cholera

Question 4: Although ____ by the bravery of his fellow soliders, Bloch had harsh words for the army leadership


A. was impressed
B. impressed
C. having impresse
D. impressing

Question 5: In 1900, the world had no deaths from rabies. Scientists _____ wonderful vaccine


A. has discovered
B. discovered
C. must have discovered
D. should have discovered

Question 6: _____ the age of 21, he was able to gamble in Las Vegas


A. When reached
B. Upon reaching
C. Reached
D. As reaching

Question 7: Only after she __________ from a severe illness did she realise the importance of good health
A. would recover
B. has recovered
C. had recovered
D. was recovering

Question 8: Sandra hated _______ though she didn’t say a word



A. photographing

B. to being photographed




C. being photographed

D. being photograph

Question 9: A computer is a ______ typewriter which allows you to type and print any kind of documents


A. magically
B. magical
C. magic
D. magician

Question 10: If only he ____ accept some help with the work instead of trying to do it alone!


A. were
B. would
C. may
D. will

Question 11: To solve this problem, it is advisable _____________     .


A. a drastic measure to be adopted
B. that a drastic measure be adopted



C. that a drastic measure is adopted
D. that a drastic measure to be adopted

Question 12: “If I were you, I’d marry him”, she said to me


A. She said to me that if I were you, I’d marry him


B. She will marry him if she is me


C. She suggested to marry him if she were me


D. She advised me to marry him

Question 13: ___________ the airport, I was very worried to find that no one ___________ for me


A. When arriving at/was waiting
B. On arriving in/had waited


C. On arriving at/was waiting
D. On arriving at/had waited

Question 14: Choose the best option A,B,C or D to complete the sentence

-“Could you tell me how to get to the nearest post office?”

-“_________________”


A. Sorry for this inconvenience.
B. I have no clue.


C. Not at all.

D. Sorry, I’m the new comer here.

Question 15: Choose the best option A,B,C or D to complete the sentence

-“More coffee, sir?”

-“____________”


A. No, thanks.

B. Yes, do it yourself.


C. All right, self-service.

D. Make yourself at home.

Question 16: Choose the best option A,B,C or D to complete the sentence

- “_________________”

- “I can manage it. Thank you.”


 
A. Can you manage this job?
B. Let me carry this bag for you?


C. Do you nneed their support?
D. Can you give me a hand with this?

Question 17: Choose the best option A,B,C or D to complete the sentence

- Jane: “Thank you for the lovely present.”

- Steve: “____________”


A. Go ahead.
B. Not at all.
C. Come on.
D. I’m pleased you like it.

Question 18: Choose the best option A,B,C or D to complete the sentence

Christ: “Are you coming on Saturday?”

Tony: “____________”


A. I’m afraid not.
B. I’m afraid not to.
C. I’m afraid to.
D. I’m afraid I don’t.

Question 19: After we each had been assigned an installment part of the object, we came back to our ____ section


A. respectful
B. respectively
C. respect
D. respective

Question 20: Xoan singing is a vocal art of villages in the ancestral land of Phu Tho. It has been ____ for generations an the oral tradition is still very much alive today


A. handed down
B. landed on
C. passed by
D. taken over

Question 21: Sometimes she does not agree ____ her husband about child rearing but they soon find the solutions


A. with
B. for
C. on
D. of

Question 22: I deeply regret __________ to her so severely last night. She was badly hurt


A. to speak
B. being spoken
C. having spoken
D. to be speaking

Question 23: In England, it is _________ to use a mobile phone when driving


A. illegal
B. lawless
C. criminal
D. banned

Question 24: That’s exactly what I mean, Tom. You’ve _______!


A. put your foot in it  

B. killed two birds with one stone


C. put two and two together  
D. hit the nail on the head

Question 25: My older brother is extremely fond of astronomy, he seens to  _____ a lot of pleasure from observing the stars


A. possess
B. seize
C. reach
D. derive

Question 26: In Hawaii it is _____ to greet visitors to the country with a special garland of flowers


A. unaccustomed
B. accustomed
C. customary
D. customized

Question 27: Indicate the words or phrases that are CLOSET in meaning to the underlined words in each of thhe folloing sentences

Though many scientiic breakthroughs have resulted from mishaps, it has taken brilliant  thinkers to recognize their potential


A. accidents
B. misunderstandings
C. incidentals
D. misfortunes

Question 28: 

Indicate the words or phrases that are CLOSET in meaning to the underlined words in each of thhe folloing sentences

I could see the finish line and thought I was home and dry
 
A. hopeless
B. hopeful
C. successful
D. unsuccessful

Read the message and choose the best answer
A great deal can be learned from the actual traces of ancient human locomotion: the footprints of early hominids.  The best-known specimens are the remarkable tracks discovered at Lactoli, Tanzania, by Mary Leaky. These were left by small hominids around 3.6 to 3.75 million years ago, according to potassium – argon dates of the volcanic rocks above and below this level.These hominids walked across a stretch of moist volcanic ash, which was subsequently turned to mud by rain, and which then set like concrete.

Examination of he shape of the prints revealed to Mary Leakey that the feet had a raised arch, a rounded heel, a pronounced ball, and a big toe that pointed forward. These features, together with the weight-bearing pressure patterns, resembled the prints of upright-walking modern humans. The pressures exerted along the foot, together with the length of stride, which averaged 87 centimeters, indicated that the hominids had been walking slowly. In short, all the detectable morphological features implied that the feet that left the footprints were very little different from those of contemporary humans.

A detailed study has been made of the prints using photogrammetry, a technique for obtaining measurements through photographs, which created a drawing showing all the curves and contours of the prints. The result emphasized that there were at least seven points of similarity with modern bipedal prints, such as the depth of the heel impression, and the deep imprint of the big toe. M Day and E. Wickens also took stereophotographs of the Lactoli prints and compared them with modern prints make by men and women in similar soil conditions. Once again, the results furnished possible evidence of bipedalism. Footprints thus provide us not merely with rare impressions of the soft tissue of early hominids, but also with evidence of upright waling that in many ways is clearer than can be obtained from the analysis of bones.

The study of fossil footprints is not restricted to examples from such remote periods. Hundreds of prints are known, for example, in French caves dating from the end of the last ices age, approximately 10,000 years ago. Research by Leon Pales, using detailed silicon resin molds of footprints mostly made by bare feet, has provided information about this period.

Question 29: What does the passage mainly discuss?


A. The analysis of footprint fossils
B. Accurate dating of hominid remains


C. the career of Mary Leakey
D. Behavioral patterns of early humans

Question 30: The age of the Laetoli footprints was estimated by _______


A. testing the fossilized bones of the hominids
B. studying the shape of the footprints


C. analyzing nearly rock layers
D. comparison with footprints from other locations

Question 31: It can be inferred that the footprints in volcanic ash at Laetoli were well preserved


A. they were buried by a second volcanic eruption


B. the ash contained potassium anti argon


C. the ash was still warm from the volcanic cruptions


D. suitable conditions caused the ash harden

Question 32: Which or the following is NOT mentioned as a characteristic of the feet in Mary Leakey's fossil find?


A. The shape or the heel

B. The number of toes


C. A raised arch

D. A pronounced ball

Question 33: The word "exerted" in line 8 is closest in meaning to ________


A. influenced
B. applied
C. returned
D. lessened

Question 34: The figure of 87 centimeters mentioned in line 9 refers to the size of the _____________
A. objects carried by the hominids
B. steps taken by the hominids


C. hominids bodies

D. hominids feet

Question 35: Why does the author mention the "heel impression" in line 19?


A. To emphasize the size of the hominids foot


B. To speculate on a possible injury the hominid had suffered


C. To give an example of similarity to modern human footprints


D. To indicate the weight of early hominids

Question 36: What can be inferred about the footprints found in French caves mentioned in the last paragraph?


A. They show more detail than the Laetoli prints.


B. They are of more recent origin than the Laetoli prints.


C. They are not as informative as the Laetoli prints.


D. They are more difficult to study than the Laetoli prints

Read the message and choose the best answer
One of the most important social developments that helped to make possible a shift in thinking  about the role of public education was the effect of the baby boom of the 1950s and 1960s on the  schools. In the 1920's, but especially in the Depression conditions of the 1930's, the United States  experienced a declining birth rate-every thousand women aged fifteen to forty -four gave birth to  about 1.18 live children in 1920, 89.2 in 1930, 75.8 in 1936, and 80 in 1940. With the growing  prosperity brought on by the Second World War and the economic boom that followed it, young  people married and established households earlier and began to raise larger families than had their predecessors during the Depression. Birth rates rose to 102 per thousand in 1946, 106.2 in 1950 and 118 in 1955. Although economics was probably the most important determinant, it is not the  only explanation for the baby boom. The increased value placed on the idea of the family also  helps to explain this rise in birth rates. The baby boomers began streaming into the first grade by  the mid-1940's and became a flood by 1950. The public school system suddenly found itself  overtaxed. While the number of schoolchildren rose because of wartime and postwar conditions, these same conditions made the schools even less prepared to cope with the flood. The wartime  economy meant that few new schools were built between 1940 and 1945.Moreover, during the  war and in the boom times that followed large numbers of teachers left their profession for better paying jobs elsewhere in the economy.

Therefore, in the 1950's and 1960's, the baby boom hit an antiquated and inadequate school  system. Consequently, the "custodial rhetoric" of the 1930's and early 1940's no longer made  sense; that is, keeping youths aged sixteen and older out of the labor market by keeping them in  school could no longer be a high priority for an institution unable to find space and staff to teach younger children aged five to sixteen. With the baby boom, the focus of educators and of laymen  interested in education inevitably turned toward the lower grades and back to basic academic skills  and discipline. The system no longer had much interest in offering nontraditional new and extra services to older youths.

Question 37: What does the passage mainly discuss?


A. the teaching profession during the baby boom


B. birth rates in United States in the 1930's and 1940's 

C. the impact of the baby boom on public education


D. the role of the family in the 1950's and 1960'

Question 38: The word "it" in line 8 refers to ______


A. 1995
B. economics
C. the baby boom
D. value

Question 39: The word "overtaxed" in the 11 is closest in meaning to _________


A. well prepared
B. plentifully supplied
C. heavily burdened
D. charged too much

Question 40: The public schools of the 1950's and  1960's faced all of the following  problems EXCEPT ____


A. a declining number of students
B. old-fashioned facilities


C. a shortage of teachers

D. an inadequate number of school building

Question 41: According to the passage, why did teachers leave the teaching profession after the outbreak of the war?


A. They needed to be retrained.
B. They were dissatisfied with the curriculum.


C. Other jobs provided higher salaries.
D. Teaching positions were scarce.

Question 42: The "custodial rhetoric" mentioned in  line 17 refers to _________


A. raising a family

B. keeping older individuals in school


C. running an orderly household
D. maintaining discipline in the classroom

Question 43: Which of the following best characterizes  the organization of the passage?


A. The second paragraph presents the effect  of circumstances described in the first paragraph.

B. The second paragraph provides a fictional account to illustrate a problem presented in the first paragraph.


C. The second paragraph argues against a point made in the first paragraph.


D. The second paragraph introduces a problem not mentioned in the first paragraph.

Read the message and choose the best answer
Rent control is the system whereby the local government tells building owners how much they can charge their tenants in rent. In the United States, rent controls date back to at least World War II. In 1943 the federal government imposed rent controls to help solve the problem of housing shortages during wartime. The federal program ended after the war, but in some locations, including New York City, controls continued. Under New York's controls, a landlord generally cannot raise rents on apartments as long as the tenants continue to renew their leases. In places such as Santa Monica, California, rent controls are more recent. They were spurred by the inflation of the 1970's, which, combined with California's rapid population growth, pushed housing prices, as well as rents, to record levels. In 1979 Santa Monica's municipal government ordered landlords to roll back their rents to the levels charged in 1978. Future rents could only go up by two-thirds as much as any increase in the overall price level.

In any housing market, rental prices perform three functions: (1) promoting the efficient maintenance of existing housing and stimulating the construction of new housing, (2) allocating existing scarce housing among competing claimants, and (3) rationing use of existing housing by potential renters.

One result of rent control is a decrease in the construction of new rental units. Rent controls have artificially depressed the most important long-term determinant of profitability - rents.Consider some examples. In a recent year in Dallas, Texas, with a 16 percent rental vacancy rate but no rent control laws, 11,000 new housing units were built. In the same year, in San Francisco, California, only 2,000 units were built. The major difference? San Francisco has only a 1.6 percent vacancy rate but stringent rent control laws.In New York City, except for government- subsidized construction, the only rental units being built are luxury units, which are exempt from controls. In Santa Monica, California, new apartments are not being constructed.New office rental space and commercial developments are, however, they are exempt from rent controls.

Question 44: What does the passage mainly discuss?


A. The construction of apartments in the  United States.


B. Causes and effects of rent control


C. The fluctuations of rental prices


D. The shortage of affordable housing in the  United States.

Question 45: Which of the following was NOT a reason for the introduction of rent controls in Santa Monica, California?


A. Rapid population growth
B. Inflation


C. Economic conditions during wartime
D. Record-high housing prices

Question 46: The phrase "roll back" in lines 8 is closest in meaning to ________


A. credit
B. measure
C. vary
D. reduce

Question 47: It can be inferred that the purpose of rent control is to ________


A. protect tenants

B. promote construction


C. increase vacancy rates

D. decrease sales of rental units

Question 48: The information in the last paragraph supports which of the following statements?


A. San Francisco has eliminated its rent control laws.


B. Rent control leads to a reduction in the construction of housing units


C. Luxury apartments are rarely built when there is rent control


D. There is a growing need for governmentsubsidized housing.

Question 49: According to the passage, which of the following cities does NOT currently have rent controls?


A. Santa Monica
B. Dallas
C. San Francisco
D. New York City

Question 50: According to the passage, which of the following is NOT exempt from rent control?


A. Luxury apartments




B. Commercial development


C. Moderately priced apartments


D. Office space

Write a paragraph of 120-150 words on the following topic
Question 51: What are the advantages of studying abroad?
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HƯỚNG DẪN GIẢI CHI TIẾT

Question 1: Choose the word that has the underline part pronounced differently from the others


A. genetics
B. generate
C. kennel
D. gentle

Phương pháp giải:
Phát âm “e”

Giải chi tiết:
A. genetics  /dʒəˈnetɪks/

B. generate  /ˈdʒenəreɪt/

C. kennel  /ˈkenl/

D. gentle  /ˈdʒentl/

Phương án A có phần gạch chân đọc là /ə/, còn lại đọc là /e/

Question 2: Choose the word whose primary stress is different from the others


A. invaluable
B. investigate
C. intimacy
D. intensity

Phương pháp giải:
Trọng âm từ đa âm tiết

Giải chi tiết:
A. invaluable  /ɪnˈvæljuəbl/

B. investigate  /ɪnˈvestɪɡeɪt/

C. intimacy  /ˈɪntɪməsi/

D. intensity  /ɪnˈtensəti/

Phương án C có trọng âm rơi vào 1, còn lại rơi vào 2

Question 3: Choose the word that has the underline part pronounced differently from the others



A. mechanic
B. machinery
C. chemist
D. cholera

Phương pháp giải:
Phát âm “ch”

Giải chi tiết:
A. mechanic  /məˈkænɪk/

B. machinery  /məˈʃiːnəri/

C. chemist /ˈkemɪst/

D. cholera  /ˈkɒlərə/

Phương án B có phần gạch chân đọc là /ʃ/, còn lại đọc là /k/

Question 4: Although ____ by the bravery of his fellow soliders, Bloch had harsh words for the army leadership


A. was impressed
B. impressed
C. having impresse
D. impressing

Phương pháp giải:
Rút gọn mệnh đề trạng ngữ

Giải chi tiết:
Though/ Although + S + V, S + V: Mặc dù …

Nếu chủ ngữ của 2 mệnh đề là 1 thì ta có thể rút gọn mệnh đề nhượng bộ theo cấu trúc:

Though/ Although + adj/adv, S + V …

Tạm dịch: Mặc dù bị ấn tượng bởi sự dũng cảm của những người lính của mình, Bloch đã có những lời lẽ cay nghiệt đối với người lãnh đạo quân đội.

Question 5: In 1900, the world had no deaths from rabies. Scientists _____ wonderful vaccine


A. has discovered
B. discovered
C. must have discovered
D. should have discovered

Phương pháp giải:
Động từ khuyết thiếu

Giải chi tiết:
Must have done sth: chắc hẳn là đã (đưa ra dự đoán cho một sự việc đã xảy ra trong quá khứ)

Tạm dịch: Năm 1900, thế giới không có trường hợp tử vong do bệnh dại. Các nhà khoa học chắc hẳn là đã tìm  vắc xin tuyệt vời

Question 6: _____ the age of 21, he was able to gamble in Las Vegas


A. When reached
B. Upon reaching
C. Reached
D. As reaching

Phương pháp giải:
Cụm giới từ

Giải chi tiết:
Upon/on + Ving = when + S+ V : vào, khi

Tạm dịch: Vào năm 21 tuổi, anh ấy đã có thể đánh bạc ở Las Vegas

Question 7: Only after she __________ from a severe illness did she realise the importance of good health
A. would recover
B. has recovered
C. had recovered
D. was recovering

Phương pháp giải:
Thì của động từ

Giải chi tiết:
Only after + S + V (past perfect) + did + S + V (bare): chỉ sau khi

Tạm dịch: Chỉ sau khi khỏi bệnh nặng, cô ấy mới nhận ra tầm quan trọng của một sức khỏe tốt

Question 8: Sandra hated _______ though she didn’t say a word



A. photographing

B. to being photographed




C. being photographed

D. being photograph

Phương pháp giải:
Dạng của động từ
Giải chi tiết:
Chủ động: hate + Ving

=> bị động: hate being PII

Tạm dịch: Cô ấy ghét bị chụp anh mặc dù cô ấy không có nói gì

Question 9: A computer is a ______ typewriter which allows you to type and print any kind of documents


A. magically
B. magical
C. magic
D. magician

Phương pháp giải:
Từ loại

Giải chi tiết:
A. magically (adv): một cách thần kì

B. magical (adj): liên quan đến phép thuật; tuyệt vời, kì diệu

C. magic (n): phép thuật

D. magician (n) ảo thuật gia

Tạm dịch: Máy tính là một máy đánh chữ tuyệt vời cho phép bạn nhập và in bất kỳ loại tài liệu nào

Question 10: If only he ____ accept some help with the work instead of trying to do it alone!


A. were
B. would
C. may
D. will

Phương pháp giải:
Cấu trúc với If only

Giải chi tiết:
Dùng If only + S + V(past simple) để ước cho một việc không có thật ở hiện tại

Tạm dịch: Giá như anh chấp nhận giúp đỡ công việc thay vì cố gắng làm một mình!

Question 11: To solve this problem, it is advisable _____________     .


A. a drastic measure to be adopted
B. that a drastic measure be adopted



C. that a drastic measure is adopted
D. that a drastic measure to be adopted

Phương pháp giải:
Cấu trúc giả định

Giải chi tiết:
It is advisable/suggested/recommended….+ that + S + V (bare)

Tạm dịch: Để giải quyết vấn đề này, nên áp dụng một biện pháp quyết liệt

Question 12: “If I were you, I’d marry him”, she said to me


A. She said to me that if I were you, I’d marry him


B. She will marry him if she is me


C. She suggested to marry him if she were me


D. She advised me to marry him
Phương pháp giải:
Câu gián tiếp

Giải chi tiết:
A. She said to me that if I were you, I’d marry him => sai ngôi

B. She will marry him if she is me => sai thì

C. She suggested to marry him if she were me => sai cấu trúc ( suggest + Ving)

D. She advised me to marry him => hợp nghĩa + đúng cấu trúc

Tạm dịch: “Nếu tôi là bạn, tôi sẽ kết hôn với anh ấy ”, cô ấy nói với tôi

=> Cô ấy khuyên tôi nên lấy anh ấy

Question 13: ___________ the airport, I was very worried to find that no one ___________ for me


A. When arriving at/was waiting
B. On arriving in/had waited


C. On arriving at/was waiting
D. On arriving at/had waited
Phương pháp giải:
Giải chi tiết:
Upon/on + Ving = when + S+ V : vào, khi

"arrive in" đối với các thành phố, thị trấn và quốc gia và "đến" đối với các địa điểm khác

Dùng thì quá khứ hoàn thành để diễn tả sự việc xảy ra sự việc khác trong quá khứ

Tạm dịch: Khi tôi đến sân bay, tôi rất lo lắng vì sợ không có ai đợi tôi
Question 14: Choose the best option A,B,C or D to complete the sentence

-“Could you tell me how to get to the nearest post office?”

-“_________________”


A. Sorry for this inconvenience.
B. I have no clue.


C. Not at all.

D. Sorry, I’m the new comer here.
Phương pháp giải:
Tình huống giao tiếp

Giải chi tiết:
- "Bạn có thể cho tôi biết làm thế nào để đến bưu điện gần nhất?" (44)

- “_________________”

A. Xin lỗi vì sự bất tiện này.

B. Tôi không có manh mối.

C. Không hề.

D. Xin lỗi, tôi là người mới đến đây.

Question 15: Choose the best option A,B,C or D to complete the sentence

-“More coffee, sir?”

-“____________”


A. No, thanks.

B. Yes, do it yourself.


C. All right, self-service.

D. Make yourself at home.

Phương pháp giải:
Tình huống giao tiếp

Giải chi tiết:
- "Thêm cà phê, thưa ông?"

- “____________”

A. Không cần đâu bạn, cảm ơn .

B. Có, tự mình làm.

C. Được rồi, tự phục vụ.

D. Cứ tự nhiên như ở nhà

Question 16: Choose the best option A,B,C or D to complete the sentence

- “_________________”

- “I can manage it. Thank you.”


 
A. Can you manage this job?
B. Let me carry this bag for you?

C. Do you nneed their support?
D. Can you give me a hand with this?

Phương pháp giải:
Tình huống giao tiếp

Giải chi tiết:
- “_________________”

- “Tôi có thể xoay xở được. Cảm ơn bạn."

A. Bạn có thể quản lý công việc này không?

B. Để tôi xách chiếc túi này cho bạn nhé?

C. Bạn có cần sự hỗ trợ của họ không?

D. Bạn có thể giúp tôi một tay với cái này không?

Question 17: Choose the best option A,B,C or D to complete the sentence

- Jane: “Thank you for the lovely present.”

- Steve: “____________”


A. Go ahead.
B. Not at all.
C. Come on.
D. I’m pleased you like it.

Phương pháp giải:
Tình huống giao tiếp

Giải chi tiết:
- Jane: "Cảm ơn vì món quà đáng yêu."

- Steve: “____________”

A. Tiến lên phía trước

B. Không có gì

C. Thôi nào

D. Tôi rất vui vì bạn thích nó.

Question 18: Choose the best option A,B,C or D to complete the sentence

Christ: “Are you coming on Saturday?”

Tony: “____________”


A. I’m afraid not.
B. I’m afraid not to.
C. I’m afraid to.
D. I’m afraid I don’t.

Phương pháp giải:
Tình huống giao tiếp

Giải chi tiết:
Dùng “I’m afraid not” để đưa ra lời từ chối lịch sự yêu cầu của ai đó

Tạm dịch:
Christ: "Bạn có đến vào thứ Bảy không?"

Tony: Tôi e là không được rồi
Question 19: After we each had been assigned an installment part of the object, we came back to our ____ section


A. respectful
B. respectively
C. respect
D. respective
Phương pháp giải:
Từ loại

Giải chi tiết:
A. respectful (adj) bày tỏ sự tôn trọng

B. respectively (adv): một cách tương ứng, lần lượt

C. respect (v) tôn trọng

D. respective (adj): tương ứng

Chỗ trống cần điền là một tính từ theo cấu trúc: adj + n

Tạm dịch: Sau khi được phân phần của mình, chúng tôi đều quay về chú tâm vào phần được giao tương ứng.

Question 20: Xoan singing is a vocal art of villages in the ancestral land of Phu Tho. It has been ____ for generations an the oral tradition is still very much alive today


A. handed down
B. landed on
C. passed by
D. taken over

Phương pháp giải:
Cụm động từ

Giải chi tiết:
A. handed down: lưu truyền

B. landed on: hạ cánh

C. passed by: đi qua, trôi qua

D. taken over: tiếp quản

Tạm dịch: Hát Xoan là một nghệ thuật thanh nhạc của những ngôi làng ở vùng đất tổ tiên của Phú Thọ. Nó đã được lưu truyền qua nhiều thế hệ và truyền thống truyền miệng vẫn còn tồn tại đến ngày nay

Question 21: Sometimes she does not agree ____ her husband about child rearing but they soon find the solutions


A. with
B. for
C. on
D. of

Phương pháp giải:
Giới từ

Giải chi tiết:
Agree with sb

Agree about/on sth

Tạm dịch: Đôi khi cô không đồng ý với chồng cô về việc nuôi dạy con cái nhưng họ đã sớm tìm ra giải pháp

Question 22: I deeply regret __________ to her so severely last night. She was badly hurt


A. to speak
B. being spoken
C. having spoken
D. to be speaking

Phương pháp giải:
Dạng của động từ

Giải chi tiết:
Regret doing/having done sth: hối hận vì đã làm gì

regret + to V: hối tiếc vì phải làm gì

Tạm dịch: Tôi vô cùng hối hận vì đã nói chuyện với cô ấy một cách quá nghiêm khắc đêm qua. Cô bị tổn thương nặng nề.

Question 23: In England, it is _________ to use a mobile phone when driving


A. illegal
B. lawless
C. criminal
D. banned

Phương pháp giải:
Từ vựng

Giải chi tiết:
A. illegal (adj): phạm pháp

B. lawless (adj): không có luật pháp

C. criminal (n): tội phạm

D. banned (adj): bị cấm

Tạm dịch: Ở Anh, vừa lái xe vừa dùng điện thoại là phạm pháp.

Question 24: That’s exactly what I mean, Tom. You’ve _______!


A. put your foot in it  

B. killed two birds with one stone


C. put two and two together  
D. hit the nail on the head
Phương pháp giải:
Thành ngữ

Giải chi tiết:
A. put your foot in it: nói, làm điều thiếu tế nhị

B. put two and two together: cứ thế mà suy ra

C. killed two birds with one stone: một mũi tên trúng hai đích

D. hit the nail on the head: nói một cách chính xác

Question 25: My older brother is extremely fond of astronomy, he seens to  _____ a lot of pleasure from observing the stars


A. possess
B. seize
C. reach
D. derive
Phương pháp giải:
Từ vựng

Giải chi tiết:
possess (v): có, chiếm hữu, ám ảnh               

seize (v): nắm lấy, chộp lấy

reach (v): với tới                                             

derive (v): thu được, có được

Tạm dịch: Anh trai tôi cực kỳ thích thiên văn học, anh ấy dường như có được rất nhiều niềm vui từ việc quan sát các vì sao.

Question 26: In Hawaii it is _____ to greet visitors to the country with a special garland of flowers


A. unaccustomed
B. accustomed
C. customary
D. customized

Phương pháp giải:
Từ loại

Giải chi tiết:
A. unaccustomed (adj): bất thường, không bình thường

B. accustomed to sth/doing sth: quen với cái gì/làm gì

C. customary (adj): theo thường lệ

D. customized  (V-ed): tuỳ chỉnh

Tạm dịch: Hawaii, người ta thường chào đón du khách đến đất nước này bằng một vòng hoa đặc biệt.

Question 27: Indicate the words or phrases that are CLOSET in meaning to the underlined words in each of thhe folloing sentences

Though many scientiic breakthroughs have resulted from mishaps, it has taken brilliant  thinkers to recognize their potential


A. accidents
B. misunderstandings
C. incidentals
D. misfortunes

Phương pháp giải:
Từ đồng nghĩa

Giải chi tiết:
Mishap: việc rủi ro.

A. Accident: tai nạn.

B. Misunderstanding: sự hiểu nhầm.

C. incidentals: ngẫu nhiên, tình cờ

D. Misfortune : kém may mắn, bất hạnh

Tạm dịch: Mặc dù nhiều đột phá về khoa học xuất phát từ những rủi ro, nhưng phải khiến những nhà tư tưởng xuất chúng nhận ra tiềm năng của họ.
Question 28: 

Indicate the words or phrases that are CLOSET in meaning to the underlined words in each of thhe folloing sentences

I could see the finish line and thought I was home and dry
 
A. hopeless
B. hopeful
C. successful
D. unsuccessful

Phương pháp giải:
Từ đồng nghĩa

Giải chi tiết:
Thành ngữ: home and dry : thành công

A. unsucessful (a): không thành công

B. hopeful (a): đầy hi vọng

C. successful (a): thành công

D. unsuccessful (a): không thành công

Tạm dịch: Tôi có thể nhìn thấy đích đến và tôi nghĩ mình đã thành công

Read the message and choose the best answer
A great deal can be learned from the actual traces of ancient human locomotion: the footprints of early hominids.  The best-known specimens are the remarkable tracks discovered at Lactoli, Tanzania, by Mary Leaky. These were left by small hominids around 3.6 to 3.75 million years ago, according to potassium – argon dates of the volcanic rocks above and below this level.These hominids walked across a stretch of moist volcanic ash, which was subsequently turned to mud by rain, and which then set like concrete.

Examination of he shape of the prints revealed to Mary Leakey that the feet had a raised arch, a rounded heel, a pronounced ball, and a big toe that pointed forward. These features, together with the weight-bearing pressure patterns, resembled the prints of upright-walking modern humans. The pressures exerted along the foot, together with the length of stride, which averaged 87 centimeters, indicated that the hominids had been walking slowly. In short, all the detectable morphological features implied that the feet that left the footprints were very little different from those of contemporary humans.

A detailed study has been made of the prints using photogrammetry, a technique for obtaining measurements through photographs, which created a drawing showing all the curves and contours of the prints. The result emphasized that there were at least seven points of similarity with modern bipedal prints, such as the depth of the heel impression, and the deep imprint of the big toe. M Day and E. Wickens also took stereophotographs of the Lactoli prints and compared them with modern prints make by men and women in similar soil conditions. Once again, the results furnished possible evidence of bipedalism. Footprints thus provide us not merely with rare impressions of the soft tissue of early hominids, but also with evidence of upright waling that in many ways is clearer than can be obtained from the analysis of bones.

The study of fossil footprints is not restricted to examples from such remote periods. Hundreds of prints are known, for example, in French caves dating from the end of the last ices age, approximately 10,000 years ago. Research by Leon Pales, using detailed silicon resin molds of footprints mostly made by bare feet, has provided information about this period.

Question 29: What does the passage mainly discuss?


A. The analysis of footprint fossils
B. Accurate dating of hominid remains


C. the career of Mary Leakey
D. Behavioral patterns of early humans

Phương pháp giải:
Đọc hiểu ý chính

Giải chi tiết:
Đoạn văn chủ yếu thảo luận là gì?

A. Phân tích hóa thạch dấu chân

B. Xác định niên đại chính xác của di tích loài hominid

C. sự nghiệp của Mary Leakey

D. Các kiểu hành vi của người sơ khai

Question 30: The age of the Laetoli footprints was estimated by _______


A. testing the fossilized bones of the hominids
B. studying the shape of the footprints


C. analyzing nearly rock layers
D. comparison with footprints from other locations

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Tuổi của các dấu chân Laetoli được ước tính bằng _______

A. thử nghiệm xương hóa thạch của loài hominids

B. nghiên cứu hình dạng của các dấu chân

C. phân tích các lớp đá gần đó

D. so sánh với dấu chân từ các vị trí khác

Thông tin: These were left by small hominids around 3.6 to 3.75 million years ago, according to potassium – argon dates of the volcanic rocks above and below this level.

Tạm dịch: Chúng được để lại bởi các hominids nhỏ khoảng 3,6 đến 3,75 triệu năm trước, theo niên đại kali - argon của đá núi lửa ở trên và dưới mức này.

Question 31: It can be inferred that the footprints in volcanic ash at Laetoli were well preserved


A. they were buried by a second volcanic eruption


B. the ash contained potassium anti argon


C. the ash was still warm from the volcanic cruptions


D. suitable conditions caused the ash harden
Phương pháp giải:
Đọc hiểu suy luận

Giải chi tiết:
Có thể suy ra rằng các dấu chân trong tro núi lửa ở Laetoli đã được bảo quản rất tốt

Tại vì __________

A. chúng đã bị chôn vùi bởi một vụ phun trào núi lửa thứ hai

B. tro chứa kali anti argon

C. tro vẫn còn ấm từ các vụ nổ núi lửa

D. điều kiện thích hợp làm tro đông cứng lại

Thông tin: These hominids walked across a stretch of moist volcanic ash, which was subsequently turned to mud by rain, and which then set like concrete.

Tạm dịch:
Những hominids này đã bị trồn vùi bởi một dải tro núi lửa ẩm, sau đó bị mưa biến thành bùn và sau đó đóng rắn như bê tông.

Question 32: Which or the following is NOT mentioned as a characteristic of the feet in Mary Leakey's fossil find?


A. The shape or the heel

B. The number of toes

C. A raised arch

D. A pronounced ball

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Điều nào hoặc điều nào sau đây KHÔNG được đề cập đến như một đặc điểm của bàn chân trong tìm thấy hóa thạch của Mary Leakey?

Thông tin: Examination of he shape of the prints revealed to Mary Leakey that the feet had a raised arch, a rounded heel, a pronounced ball, and a big toe that pointed forward.

Tạm dịch: Kiểm tra hình dạng của anh ta của các dấu tay tiết lộ cho Mary Leakey rằng bàn chân có vòm nâng lên, gót chân tròn, dấu tròn và ngón chân cái hướng về phía trước

Question 33: The word "exerted" in line 8 is closest in meaning to ________


A. influenced
B. applied
C. returned
D. lessened

Phương pháp giải:
Từ vựng

Giải chi tiết:
The word "exerted" in line 11 is closest in meaning to ________

A. influenced: ảnh hưởng

B. applied: tác động vào

C. returned: trở lại

D. lessened: bởt đi
Thông tin: The pressures exerted along the foot, together with the length of stride, which averaged 87 centimeters, indicated that the hominids had been walking slowly.

Tạm dịch: Các áp lực tác động dọc theo bàn chân, cùng với chiều dài sải chân, trung bình là 87 cm, chỉ ra rằng hominids đã đi bộ chậm.

Question 34: The figure of 87 centimeters mentioned in line 9 refers to the size of the _____________
A. objects carried by the hominids
B. steps taken by the hominids

C. hominids bodies

D. hominids feet

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Con số 87 cm được đề cập ở dòng 9 đề cập đến kích thước của _____________

A. những đồ vật được mang theo bởi các hominids

B. các bước sải chân được thực hiện bởi các hominids

C. cơ quan hominids

D. chân hominids

Thông tin: The pressures exerted along the foot, together with the length of stride, which averaged 87 centimeters, indicated that the hominids had been walking slowly.

Tạm dịch: Các áp lực tác động dọc theo bàn chân, cùng với chiều dài bước sải chân, trung bình là 87 cm, chỉ ra rằng hominids đã đi bộ chậm.

Question 35: Why does the author mention the "heel impression" in line 19?


A. To emphasize the size of the hominids foot


B. To speculate on a possible injury the hominid had suffered


C. To give an example of similarity to modern human footprints

D. To indicate the weight of early hominids

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Tại sao tác giả lại nhắc đến “áp lực gót chân” ở dòng 19?

A. Để nhấn mạnh kích thước của bàn chân hominids

B. Để suy đoán về chấn thương có thể xảy ra mà loài hominid đã phải chịu

C. Để đưa ra một ví dụ về sự giống nhau của dấu chân người hiện đại

D. Để chỉ ra trọng lượng của những con lai ban đầu

Thông tin: The result emphasized that there were at least seven points of similarity with modern bipedal prints, such as the depth of the heel impression, and the deep imprint of the big toe.

Tạm dịch: Kết quả nhấn mạnh rằng có ít nhất bảy điểm tương đồng với các họa tiết in hai chân hiện đại, chẳng hạn như độ sâu của dấu ấn gót chân và dấu ấn sâu của ngón chân cái.

Question 36: What can be inferred about the footprints found in French caves mentioned in the last paragraph?


A. They show more detail than the Laetoli prints.


B. They are of more recent origin than the Laetoli prints.

C. They are not as informative as the Laetoli prints.


D. They are more difficult to study than the Laetoli prints

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Có thể suy ra điều gì về những dấu chân được tìm thấy trong các hang động của Pháp được đề cập trong đoạn cuối?

A. Chúng hiển thị chi tiết hơn các bản in Laetoli.

B. Chúng có nguồn gốc gần đây hơn bản in Laetoli.

C. Chúng không nhiều thông tin như bản in của Laetoli.

D. Chúng khó nghiên cứu hơn bản in Laetoli

Thông tin: The study of fossil footprints is not restricted to examples from such remote periods. Hundreds of prints are known, for example, in French caves dating from the end of the last ices age, approximately 10,000 years ago. Research by Leon Pales, using detailed silicon resin molds of footprints mostly made by bare feet, has provided information about this period.

Tạm dịch: Việc nghiên cứu dấu chân hóa thạch không chỉ giới hạn ở các ví dụ từ những thời kỳ xa xôi như vậy. Ví dụ, hàng trăm bản in được biết đến trong các hang động của Pháp có niên đại từ cuối kỷ nguyên thạch cuối cùng, khoảng 10.000 năm trước. Nghiên cứu của Leon Pales, sử dụng các khuôn đúc chi tiết bằng nhựa silicon của các dấu chân chủ yếu được làm bằng chân trần, đã cung cấp thông tin về thời kỳ này.

Chú ý khi giải:
Nội dung dịch:
Có thể học được nhiều điều từ những dấu vết thực tế của quá trình di chuyển của con người cổ đại: dấu chân của những người đầu tiên. Những mẫu vật nổi tiếng nhất là những dấu vết đáng chú ý được phát hiện tại Lactoli, Tanzania, bởi Mary Leaky. Chúng được để lại bởi các hominids nhỏ khoảng 3,6 đến 3,75 triệu năm trước, theo niên đại kali - argon của đá núi lửa ở trên và dưới mức này. Những hominids này đi qua một dải tro núi lửa ẩm, sau đó bị mưa biến thành bùn và sau đó đóng rắn như bê tông.

Kiểm tra hình dạng của các dấu vân tay đã tiết lộ cho Mary Leakey rằng bàn chân có vòm nâng lên, gót chân tròn, quả bóng rõ rệt và ngón chân cái hướng về phía trước. Những đặc điểm này, cùng với các mô hình áp lực chịu trọng lượng, giống như hình in của con người hiện đại đi bộ thẳng đứng. Các áp lực tác động dọc theo bàn chân, cùng với chiều dài sải chân, trung bình là 87 cm, chỉ ra rằng hominids đã đi bộ chậm. Tóm lại, tất cả các đặc điểm hình thái có thể phát hiện được đều ngụ ý rằng bàn chân để lại dấu chân rất ít khác biệt so với bàn chân của con người đương thời.

Một nghiên cứu chi tiết đã được thực hiện về các bản in bằng cách sử dụng phép đo quang, một kỹ thuật để lấy các phép đo thông qua các bức ảnh, tạo ra một bản vẽ thể hiện tất cả các đường cong và đường viền của bản in. Kết quả nhấn mạnh rằng có ít nhất bảy điểm tương đồng với họa tiết in hai chân hiện đại, chẳng hạn như độ sâu của dấu ấn gót chân và dấu ấn sâu của ngón chân cái. M Day và E. Wickens cũng đã chụp ảnh nổi của các bản in của Lactoli và so sánh chúng với các bản in hiện đại do nam giới và phụ nữ tạo ra trong điều kiện đất đai tương tự. Một lần nữa, kết quả cung cấp bằng chứng khả dĩ về chứng tật hai chân. Do đó, dấu chân không chỉ cung cấp cho chúng ta những ấn tượng hiếm hoi về mô mềm của loài người đầu tiên, mà còn bằng chứng về việc đi thẳng đứng mà theo nhiều cách rõ ràng hơn những gì có thể thu được từ việc phân tích xương.
Việc nghiên cứu dấu chân hóa thạch không chỉ giới hạn ở các ví dụ từ những thời kỳ xa xôi như vậy. Ví dụ, hàng trăm bản in được biết đến trong các hang động của Pháp có niên đại từ cuối kỷ nguyên thạch cuối cùng, khoảng 10.000 năm trước. Nghiên cứu của Leon Pales, sử dụng các khuôn đúc chi tiết bằng nhựa silicon của các dấu chân chủ yếu được làm bằng chân trần, đã cung cấp thông tin về thời kỳ này.

Read the message and choose the best answer
One of the most important social developments that helped to make possible a shift in thinking  about the role of public education was the effect of the baby boom of the 1950s and 1960s on the  schools. In the 1920's, but especially in the Depression conditions of the 1930's, the United States  experienced a declining birth rate-every thousand women aged fifteen to forty -four gave birth to  about 1.18 live children in 1920, 89.2 in 1930, 75.8 in 1936, and 80 in 1940. With the growing  prosperity brought on by the Second World War and the economic boom that followed it, young  people married and established households earlier and began to raise larger families than had their predecessors during the Depression. Birth rates rose to 102 per thousand in 1946, 106.2 in 1950 and 118 in 1955. Although economics was probably the most important determinant, it is not the  only explanation for the baby boom. The increased value placed on the idea of the family also  helps to explain this rise in birth rates. The baby boomers began streaming into the first grade by  the mid-1940's and became a flood by 1950. The public school system suddenly found itself  overtaxed. While the number of schoolchildren rose because of wartime and postwar conditions, these same conditions made the schools even less prepared to cope with the flood. The wartime  economy meant that few new schools were built between 1940 and 1945.Moreover, during the  war and in the boom times that followed large numbers of teachers left their profession for better paying jobs elsewhere in the economy.

Therefore, in the 1950's and 1960's, the baby boom hit an antiquated and inadequate school  system. Consequently, the "custodial rhetoric" of the 1930's and early 1940's no longer made  sense; that is, keeping youths aged sixteen and older out of the labor market by keeping them in  school could no longer be a high priority for an institution unable to find space and staff to teach younger children aged five to sixteen. With the baby boom, the focus of educators and of laymen  interested in education inevitably turned toward the lower grades and back to basic academic skills  and discipline. The system no longer had much interest in offering nontraditional new and extra services to older youths.

Question 37: What does the passage mainly discuss?


A. the teaching profession during the baby boom


B. birth rates in United States in the 1930's and 1940's 


C. the impact of the baby boom on public education

D. the role of the family in the 1950's and 1960'

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Đoạn văn chủ yếu thảo luận là gì?

A. nghề dạy học trong thời kỳ bùng nổ trẻ thơ

B. tỷ lệ sinh ở Hoa Kỳ trong những năm 1930 và 1940

C. tác động của bùng nổ trẻ sơ sinh đối với giáo dục công

D. vai trò của gia đình trong những năm 1950 và 1960 '

Question 38: The word "it" in line 8 refers to ______


A. 1995
B. economics
C. the baby boom
D. value

Phương pháp giải:
Từ thay thế

Giải chi tiết:
Từ  "it" ở dòng 11 thay thế cho ____

A. 1995

B. economics

C. the baby boom

D. value

Thông tin: Although economics was probably the most important determinant, it is not the  only explanation for the baby boom.

Tạm dịch: Mặc dù kinh tế có lẽ là yếu tố quyết định quan trọng nhất, nhưng nó không phải là lời giải thích duy nhất cho sự bùng nổ trẻ sơ sinh.

Question 39: The word "overtaxed" in the 11 is closest in meaning to _________


A. well prepared
B. plentifully supplied
C. heavily burdened
D. charged too much

Phương pháp giải:
Từ vựng

Giải chi tiết:
Từ "overaxed" trong 11 gần nghĩa nhất với _________

A. chuẩn bị tốt

B. cung cấp dồi dào

C. chịu nhiều gánh nặng

D. chi trả quá nhiều

Thông tin: The baby boomers began streaming into the first grade by  the mid-1940's and became a flood by 1950. The public school system suddenly found itself  overtaxed. While the number of schoolchildren rose because of wartime and postwar conditions, these same conditions made the schools even less prepared to cope with the flood

Question 40: The public schools of the 1950's and  1960's faced all of the following  problems EXCEPT ____


A. a declining number of students
B. old-fashioned facilities


C. a shortage of teachers

D. an inadequate number of school building

Phương pháp giải:
Đọc hiểu chi tiết
Giải chi tiết:
Các trường công lập của những năm 1950 và 1960 phải đối mặt với tất cả các vấn đề sau NGOẠI TRỪ ____

A. số lượng học sinh giảm dần

B. cơ sở vật chất kiểu cũ

C. thiếu giáo viên

D. số lượng trường học không đủ

Thông tin:
B. Therefore, in the 1950's and 1960's, the baby boom hit an antiquated and inadequate school  system.

C. Moreover, during the  war and in the boom times that followed large numbers of teachers left their profession for better paying jobs elsewhere in the economy.

D. youths aged sixteen and older out of the labor market by keeping them in  school could no longer be a high priority for an institution unable to find space and staff to teach younger children aged five to sixteen

Tạm dịch:
B. Do đó, vào những năm 1950 và 1960, sự bùng nổ trẻ em đã ảnh hưởng đến một hệ thống trường học cũ kỹ và thiếu thốn.

C. Hơn nữa, trong chiến tranh và trong thời kỳ bùng nổ sau đó, một số lượng lớn giáo viên đã rời bỏ nghề nghiệp của họ để kiếm những công việc được trả lương cao hơn ở những nơi khác trong nền kinh tế.

D. thanh niên từ mười sáu tuổi trở lên ngoài thị trường lao động bằng cách cho các em đến trường không còn là ưu tiên hàng đầu đối với một cơ sở không thể tìm được không gian và nhân viên để dạy trẻ từ năm đến mười sáu tuổi.

Question 41: According to the passage, why did teachers leave the teaching profession after the outbreak of the war?


A. They needed to be retrained.
B. They were dissatisfied with the curriculum.


C. Other jobs provided higher salaries.
D. Teaching positions were scarce.

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Theo đoạn văn, tại sao sau khi chiến tranh bùng nổ, các thầy cô giáo lại bỏ nghề dạy học?

A. Họ cần được đào tạo lại.

B. Họ không hài lòng với chương trình học.

C. Các công việc khác được trả lương cao hơn.

D. Vị trí giảng dạy khan hiếm.

Thông tin: Moreover, during the  war and in the boom times that followed large numbers of teachers left their profession for better paying jobs elsewhere in the economy.

Tạm dịch: Hơn nữa, trong chiến tranh và trong thời kỳ bùng nổ sau đó, một số lượng lớn giáo viên đã rời bỏ nghề nghiệp của họ để kiếm những công việc được trả lương cao hơn ở những nơi khác trong nền kinh tế.

Question 42: The "custodial rhetoric" mentioned in  line 17 refers to _________


A. raising a family

B. keeping older individuals in school

C. running an orderly household
D. maintaining discipline in the classroom

Phương pháp giải:
Từ vựng

Giải chi tiết:
" custodial rhetoric " được đề cập trong dòng 17 đề cập đến _________

A. nuôi một gia đình

B. giữ những cá nhân lớn tuổi hơn ở trường

C. điều hành một hộ gia đình có trật tự

D. duy trì kỷ luật trong lớp học

Thông tin: Consequently, the "custodial rhetoric" of the 1930's and early 1940's no longer made  sense; that is, keeping youths aged sixteen and older out of the labor market by keeping them in  school could no longer be a high priority for an institution unable to find space and staff to teach younger children aged five to sixteen.

Tạm dịch: Do đó, "luận điệu giám hộ" của những năm 1930 và đầu năm 1940 không còn có ý nghĩa nữa; nghĩa là, việc giữ thanh niên từ mười sáu tuổi trở lên không tham gia thị trường lao động bằng cách giữ họ đến trường không còn là ưu tiên hàng đầu đối với một cơ sở không thể tìm được không gian và nhân viên để dạy trẻ từ năm đến mười sáu tuổi

Question 43: Which of the following best characterizes  the organization of the passage?


A. The second paragraph presents the effect  of circumstances described in the first paragraph.
B. The second paragraph provides a fictional account to illustrate a problem presented in the first paragraph.


C. The second paragraph argues against a point made in the first paragraph.


D. The second paragraph introduces a problem not mentioned in the first paragraph.

Phương pháp giải:
Đọc hiểu suy luận

Giải chi tiết:
Điều nào sau đây thể hiện rõ nhất cách tổ chức của đoạn văn?

A. Đoạn văn thứ hai trình bày tác dụng của hoàn cảnh được miêu tả trong đoạn văn thứ nhất.

B. Đoạn văn thứ hai cung cấp một tài khoản hư cấu để minh họa một vấn đề được trình bày trong đoạn văn đầu tiên.

C. Đoạn văn thứ hai lập luận chống lại một quan điểm được đưa ra trong đoạn văn đầu tiên.

D. Đoạn văn thứ hai giới thiệu một vấn đề không được đề cập trong đoạn văn đầu tiên.

Thông tin:
One of the most important social developments that helped to make possible a shift in thinking  about the role of public education was the effect of the baby boom of the 1950's and 1960's on the  schools.

Therefore, in the 1950's and 1960's, the baby boom hit an antiquated and inadequate school  system.

Tạm dịch:
Một trong những phát triển xã hội quan trọng nhất giúp tạo ra sự thay đổi trong suy nghĩ về vai trò của giáo dục công là ảnh hưởng của sự bùng nổ trẻ em vào những năm 1950 và 1960 đối với các trường học.

Do đó, vào những năm 1950 và 1960, sự bùng nổ trẻ em đã ảnh hưởng đến một hệ thống trường học cũ kỹ và thiếu thốn.

Choose A.
Chú ý khi giải:
Nội dung dịch:
Một trong những phát triển xã hội quan trọng nhất giúp tạo ra sự thay đổi trong suy nghĩ về vai trò của giáo dục công là ảnh hưởng của sự bùng nổ trẻ em vào những năm 1950 và 1960 đối với các trường học. Trong những năm 1920, nhưng đặc biệt là trong điều kiện Suy thoái của những năm 1930, Hoa Kỳ đã trải qua tỷ lệ sinh giảm - cứ một nghìn phụ nữ từ 15 đến 40 tuổi sinh khoảng 1,18 đứa con sống vào năm 1920, 89,2 vào năm 1930, 75,8 vào năm 1936, và 80 vào năm 1940. Với sự thịnh vượng ngày càng tăng do Chiến tranh thế giới thứ hai và sự bùng nổ kinh tế sau đó, những người trẻ tuổi kết hôn và lập gia đình sớm hơn và bắt đầu nuôi những gia đình lớn hơn so với những người tiền nhiệm của họ trong thời kỳ suy thoái. Tỷ lệ sinh đã tăng lên 102 phần nghìn vào năm 1946, 106,2 vào năm 1950 và 118 vào năm 1955. Mặc dù kinh tế có lẽ là yếu tố quyết định quan trọng nhất, nhưng đó không phải là lời giải thích duy nhất cho sự bùng nổ trẻ sơ sinh. Giá trị gia tăng được đặt trên ý tưởng về gia đình cũng giúp giải thích sự gia tăng tỷ lệ sinh này. Những đứa trẻ bùng nổ bắt đầu tràn vào lớp một vào giữa những năm 1940 và trở thành một cơn lũ lụt vào năm 1950. Hệ thống trường công lập đột nhiên thấy mình bị quá tải. Trong khi số lượng học sinh tăng lên vì điều kiện thời chiến và sau chiến tranh, những điều kiện tương tự này khiến các trường học thậm chí còn thiếu chuẩn bị để đối phó với lũ lụt. Nền kinh tế thời chiến có nghĩa là rất ít trường học mới được xây dựng từ năm 1940 đến năm 1945. Hơn nữa, trong chiến tranh và trong thời kỳ bùng nổ kéo theo một số lượng lớn giáo viên rời bỏ nghề nghiệp của họ để kiếm những công việc có thu nhập tốt hơn ở những nơi khác trong nền kinh tế.

Read the message and choose the best answer
Rent control is the system whereby the local government tells building owners how much they can charge their tenants in rent. In the United States, rent controls date back to at least World War II. In 1943 the federal government imposed rent controls to help solve the problem of housing shortages during wartime. The federal program ended after the war, but in some locations, including New York City, controls continued. Under New York's controls, a landlord generally cannot raise rents on apartments as long as the tenants continue to renew their leases. In places such as Santa Monica, California, rent controls are more recent. They were spurred by the inflation of the 1970's, which, combined with California's rapid population growth, pushed housing prices, as well as rents, to record levels. In 1979 Santa Monica's municipal government ordered landlords to roll back their rents to the levels charged in 1978. Future rents could only go up by two-thirds as much as any increase in the overall price level.

In any housing market, rental prices perform three functions: (1) promoting the efficient maintenance of existing housing and stimulating the construction of new housing, (2) allocating existing scarce housing among competing claimants, and (3) rationing use of existing housing by potential renters.

One result of rent control is a decrease in the construction of new rental units. Rent controls have artificially depressed the most important long-term determinant of profitability - rents.Consider some examples. In a recent year in Dallas, Texas, with a 16 percent rental vacancy rate but no rent control laws, 11,000 new housing units were built. In the same year, in San Francisco, California, only 2,000 units were built. The major difference? San Francisco has only a 1.6 percent vacancy rate but stringent rent control laws.In New York City, except for government- subsidized construction, the only rental units being built are luxury units, which are exempt from controls. In Santa Monica, California, new apartments are not being constructed.New office rental space and commercial developments are, however, they are exempt from rent controls.

Question 44: What does the passage mainly discuss?


A. The construction of apartments in the  United States.


B. Causes and effects of rent control

C. The fluctuations of rental prices


D. The shortage of affordable housing in the  United States.

Phương pháp giải:
Đọc hiểu ý chính

Giải chi tiết:
Đoạn văn chủ yếu thảo luận là gì?

A. Việc xây dựng các căn hộ ở Hoa Kỳ.

B. Nguyên nhân và tác động của việc kiểm soát tiền thuê nhà

C. Sự biến động của giá thuê

D. Sự thiếu hụt nhà ở giá cả phải chăng ở Hoa Kỳ.

Question 45: Which of the following was NOT a reason for the introduction of rent controls in Santa Monica, California?


A. Rapid population growth
B. Inflation


C. Economic conditions during wartime
D. Record-high housing prices

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Điều nào sau đây KHÔNG phải là lý do cho việc áp dụng các biện pháp kiểm soát tiền thuê nhà ở Santa Monica, California?

A. Gia tăng dân số nhanh

B. Lạm phát

C. Điều kiện kinh tế trong thời chiến

D. Giá nhà ở cao kỷ lục

Thông tin: They were spurred by the inflation of the 1970's, which, combined with California's rapid population growth, pushed housing prices, as well as rents, to record levels.

Tạm dịch: Giá nhà bị đẩy lên bởi lạm phát của những năm 1970, kết hợp với sự gia tăng dân số nhanh chóng của California, đã đẩy giá nhà ở, cũng như giá thuê, lên mức kỷ lục.

Question 46: The phrase "roll back" in lines 8 is closest in meaning to ________


A. credit
B. measure
C. vary
D. reduce
Phương pháp giải:
Từ vựng

Giải chi tiết:
Cụm từ  "roll back" ở dòng 9 gần nghĩa nhất với _____

A. credit (v) chuyển khoản tiền

B. measure (v) đo

C. vary (v) ;àm đa dạng

D. reduce (v) giảm

Thông tin: a

Tạm dịch: a

Question 47: It can be inferred that the purpose of rent control is to ________


A. protect tenants

B. promote construction

C. increase vacancy rates

D. decrease sales of rental units

Phương pháp giải:
Đọc hiểu suy luận

Giải chi tiết:
Có thể suy ra rằng mục đích của việc kiểm soát tiền thuê là để ________

A. bảo vệ người thuê nhà

B. xúc tiến xây dựng

C. tăng tỷ lệ trống

D. giảm doanh số của các đơn vị cho thuê

Thông tin: In any housing market, rental prices perform three functions: (1) promoting the efficient maintenance of existing housing and stimulating the construction of new housing, (2) allocating existing scarce housing among competing claimants, and (3) rationing use of existing housing by potential renters.

Tạm dịch: Trong bất kỳ thị trường nhà ở nào, giá cho thuê thực hiện ba chức năng: (1) thúc đẩy việc bảo trì hiệu quả nhà ở hiện có và kích thích việc xây dựng nhà ở mới, (2) phân bổ nhà ở khan hiếm hiện có giữa các bên tranh chấp và (3) phân bổ việc sử dụng nhà ở hiện có bằng cách những người cho thuê tiềm năng.

Question 48: The information in the last paragraph supports which of the following statements?


A. San Francisco has eliminated its rent control laws.


B. Rent control leads to a reduction in the construction of housing units

C. Luxury apartments are rarely built when there is rent control


D. There is a growing need for governmentsubsidized housing.

Phương pháp giải:
Đọc hiểu ý chính

Giải chi tiết:
Thông tin trong đoạn cuối hỗ trợ câu nào sau đây?

A. San Francisco đã loại bỏ luật kiểm soát tiền thuê nhà.

B. Kiểm soát tiền thuê nhà dẫn đến giảm việc xây dựng các đơn vị nhà ở

C. Căn hộ cao cấp hiếm khi được xây dựng khi có sự kiểm soát về giá thuê

D. Ngày càng có nhiều nhu cầu về nhà ở do chính phủ tài trợ.

Thông tin: One result of rent control is a decrease in the construction of new rental units.

Tạm dịch: Một kết quả của việc kiểm soát tiền thuê là giảm việc xây dựng các đơn vị cho thuê mới.

Question 49: According to the passage, which of the following cities does NOT currently have rent controls?


A. Santa Monica
B. Dallas
C. San Francisco
D. New York City

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Theo đoạn văn, thành phố nào sau đây KHÔNG có kiểm soát tiền thuê nhà?

A. Santa Monica

B. Dallas

C. San Francisco

D. Thành phố New York

Thông tin: Consider some examples. In a recent year in Dallas, Texas, with a 16 percent rental vacancy rate but no rent control laws,

Tạm dịch: Hãy xem xét một số ví dụ. Trong một năm gần đây ở Dallas, Texas, với tỷ lệ trống cho thuê là 16% nhưng không có luật kiểm soát tiền thuê,

Question 50: According to the passage, which of the following is NOT exempt from rent control?


A. Luxury apartments




B. Commercial development


C. Moderately priced apartments

D. Office space

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Theo đoạn văn, điều nào sau đây KHÔNG được miễn kiểm soát tiền thuê nhà?

A. Căn hộ cao cấp

B. Phát triển thương mại

C. Căn hộ giá vừa phải

D. Không gian văn phòng.

Thông tin:
In New York City, except for governmentsubsidized construction, the only rental units being built are luxury units, which are exempt from controls.

New office rental space and commercial developments are, however, they are exempt from rent controls.

Tạm dịch: Tại Thành phố New York, ngoại trừ việc xây dựng do chính phủ tài trợ, các căn hộ cho thuê duy nhất đang được xây dựng là các căn hộ hạng sang, được miễn kiểm soát.

Tuy nhiên, không gian văn phòng cho thuê mới và các dự án phát triển thương mại được miễn kiểm soát tiền thuê.

Chú ý khi giải:
Nội dung dịch:
Kiểm soát tiền thuê nhà là hệ thống theo đó chính quyền địa phương cho chủ sở hữu tòa nhà biết họ có thể tính phí thuê người thuê của họ bao nhiêu. Tại Hoa Kỳ, các biện pháp kiểm soát tiền thuê có từ ít nhất là Chiến tranh thế giới thứ hai. Năm 1943, chính phủ liên bang áp dụng các biện pháp kiểm soát tiền thuê nhà để giúp giải quyết vấn đề thiếu nhà ở trong thời chiến. Chương trình liên bang đã kết thúc sau chiến tranh, nhưng ở một số địa điểm, bao gồm cả Thành phố New York, việc kiểm soát vẫn tiếp tục. Dưới sự kiểm soát của New York, chủ nhà thường không thể tăng tiền thuê căn hộ miễn là người thuê tiếp tục gia hạn hợp đồng thuê. Ở những nơi như Santa Monica, California, việc kiểm soát tiền thuê nhà được áp dụng gần đây hơn. Họ bị thúc đẩy bởi lạm phát của những năm 1970, kết hợp với sự gia tăng dân số nhanh chóng của California, đã đẩy giá nhà ở, cũng như giá thuê, lên mức kỷ lục. Năm 1979, chính quyền thành phố Santa Monica ra lệnh cho các chủ nhà phải trả lại tiền thuê nhà của họ về mức được tính vào năm 1978. Giá thuê trong tương lai chỉ có thể tăng bằng 2/3 so với bất kỳ mức tăng giá chung nào.

Trong bất kỳ thị trường nhà ở nào, giá cho thuê thực hiện ba chức năng: (1) thúc đẩy việc bảo trì hiệu quả nhà ở hiện có và kích thích việc xây dựng nhà ở mới, (2) phân bổ nhà ở khan hiếm hiện có giữa các bên tranh chấp và (3) phân bổ việc sử dụng nhà ở hiện có bằng cách những người cho thuê tiềm năng.

Một kết quả của việc kiểm soát tiền thuê là giảm việc xây dựng các đơn vị cho thuê mới. Các biện pháp kiểm soát tiền thuê đã làm giảm giá trị một cách giả tạo yếu tố quan trọng nhất trong dài hạn quyết định lợi nhuận - tiền thuê. Hãy xem xét một số ví dụ. Trong một năm gần đây ở Dallas, Texas, với tỷ lệ trống cho thuê là 16% nhưng không có luật kiểm soát tiền thuê, 11.000 đơn vị nhà ở mới đã được xây dựng. Cùng năm đó, tại San Francisco, California, chỉ có 2.000 chiếc được chế tạo. Sự khác biệt chính? San Francisco chỉ có tỷ lệ trống 1,6% nhưng có luật kiểm soát tiền thuê nhà nghiêm ngặt. Tại Thành phố New York, ngoại trừ việc xây dựng được chính phủ trợ cấp, các căn hộ cho thuê duy nhất đang được xây dựng là các căn hộ hạng sang, được miễn kiểm soát. Ở Santa Monica, California, các căn hộ mới đang không được xây dựng. Tuy nhiên, không gian văn phòng cho thuê mới và các dự án phát triển thương mại được miễn kiểm soát tiền thuê.

Write a paragraph of 120-150 words on the following topic
Question 51: What are the advantages of studying abroad?

Phương pháp giải:
Phân tích đề bài
- Về hình thức: Đoạn văn - Số lượng: 120-150 từ

- Về nội dung: Trình bày lợi ích của việc du học

Hướng làm bài:
Chọn 1-2 lợi ích tiêu biểu – giải thích và đưa ra ví dụ minh họa để bảo vệ luận điểm, không nên trình bày dài dòng bằng cách liệt kê nhiều lợi ích sẽ khiến cho đoạn văn lan man

Giải chi tiết:
Studying abroad can help students gain important life skills and build resilience. Every new experience can be a challenge and an adventure when you're abroad: language barriers, cultural differences and customs. From mundane personal tasks like setting up an international bank account and registering with a doctor, to understanding how to communicate with local people and understanding and appreciating people from other countries, your daily adventures overseas all contribute to you becoming a more confident and capable person. Once the culture shock fades, you’ll be left with a sense of self-confidence and independence. Through studying abroad, you can gain international experience and skills such as intercultural sensitivity, the ability to deal with ambiguity, and adaptation to new surroundings. By stepping outside of your comfort zone, you'll develop problem-solving skills and discover you can handle the unexpected. And these skills will prove immediately applicable in your professional life, regardless of your career path.

